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HOOKOV ZAKON 

𝐹 = 𝑘 ∙ ∆𝑥  [𝑁]           

∆𝑥 = 𝑥2 − 𝑥1      

𝑘 = konstanta vzmeti [
𝑁

𝑚
] 

∆𝑥  = raztezek vzmeti [𝑚]   

 

Vzporedna vezava  

 𝐹1 = 𝑘1 ∙ 𝑥1                𝐹2 = 𝑘2 ∙ 𝑥2 

𝑥1 = 𝑥2 = 𝑥 

𝐹 = 𝐹1 + 𝐹2= 𝑘1 ∙ 𝑥 + 𝑘2 ∙ 𝑥                 

𝐹 =  𝑥 ∙ 𝑘𝑠  𝑘𝑠 =  𝑘1 + 𝑘2 

𝐹 = 𝑥 ∙ ( 𝑘1 + 𝑘2) 

 
 

Zaporedna vezava 

 𝐹1 = 𝐹2 = 𝐹 

𝑥𝑠 =  𝑥1 + 𝑥2 
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=

1
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1

𝑘2
  𝑘𝑠 = (

1

 𝑘1
+
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𝑘2
)

−1

  

𝐹 = 𝑥𝑠 ∙ (
1

 𝑘1
+

1

𝑘2
)

−1
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